Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op.

Tekst 1 Less waste

1p 1 Which of the following fits the gap in paragraph 1?

A

B
Cc
D

ethical principles

national electricity consumption
population size
socio-economic circumstances

1p 2 Why does Frank Hung bring up his street?

A
B
Cc

to address the issue of overpopulation
to clarify a complex notion
to promote environmental awareness

Tekst 2 Delicate delicacies

“The European Union is not trying to ‘claw back’ every food name that is
used for generic food stuff in the United States” (paragraph 1, first letter)
1p 3 What s the EU trying to do in the US, according to Roger Waite?

A

B
Cc
D

to explore new market opportunities
to get people to buy quality products
to guarantee authenticity

to promote European rural areas

“Those who can't tell the difference” (second letter)
1p 4 What attitude does Lee Nason express towards this group of people?

A

B
C
D

disdain
embarrassment
surprise
sympathy

Tekst 3 Brain gain

1p 5 Which of the following fits the gap in paragraph 1?

A
B
Cc
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ensuring the continuation of international cooperation
showcasing our academic breakthroughs
sustaining our investment in science
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1p 6 What fear is expressed in this text?
the fear that the UK will
A become too dependent on the high-tech sector
B fail to maintain its prominent academic position in the world
C lose its most important international investors
D neglect to provide a good education for all

Tekst 4 Get a grip

1p 7 Which of the following fits the gap in paragraph 1?
A Against all odds
B Alternatively
C Among other things
D Paradoxically

1p 8 Which of the following fits the gap in paragraph 27?
A brought legitimacy to
B illustrated the irrationality of
C undermined

1p 9  Which of the following fits the gap in paragraph 3?
A acceptance
B indulgence
C restraint

“The italics are his.” (paragraph 6)
1p 10  Why did Lewis put the word “developed” in italics?
A to emphasise that addicts are actually blameless in this matter
B to highlight that addiction is a genetic predisposition
C to stress the idea that the power to control oneself can be acquired

Tekst 5 Hard work is in her DNA

“There was a mother. Who had a monster sleeping inside her.” (alinea 2)
1p 11 Wie of wat is dit “monster”?
Geef antwoord in het Nederlands of in het Engels.
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